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(A) foraesr 2023 (B) 3¢S 2024 (C) SIT 2023 (D) ATt 2023
When was first solar mission of India ‘Aditya L1’ launched ?

(A) September 2023 (B) October 2024 (C) June 2023 (D) November 2023
TopE S&T O 90 U ©@d, 2023 =G R ™ 9 7

(A) ST (B) T3S (C) &It (D) =T

In which city Para Asian Games, 2023 were held ?

(A) Beijing (B) Guangzhou (C) Hangzhou (D) Shanghai
2024 % R Afayfa wa fafme o€ (Tf) 1 sreae form fagea fopam mam o 2

(A) 3T Tf (B) TTHE I g (C) . . T (D) €. 3R, "l
Who was appointed as the Chairperson of the Securities and Exchange Board of India (SEBI) in 2024 ?
(A) Ajay Tyagi (B) Madhabi Puri Buch (C) U. K. Sinha (D) D.R. Mehta
qferTg ® Ush it Terifaes ardf “aftremm ot e feREeh g & Y TR 7

(A) FHA BEA (B) IR

(C) 3fSa HAR (D) % fos =sRiEt

Who launched ‘Tamilaga Vettri Kazhagam’, a new political party in Tamil Nadu ?

(A) Kamal Hasan (B) Rajnikant

(C) Ajith Kumar (D) Joseph Vijay Chandrashekhar

19 9T Sfi-20 R TF e Sal SRS foha o o 7

(A) 8 feoeft, wra B) f&t f& S, s

(C) STehrdl, SUSHITRRI (D) HTEhHI, &F

Where was 19" G-20 Summit held ?

(A) New Delhi, India (B) Rio de Janeiro, Brazil

(C) Jakarta, Indonesia (D) Moscow, Russia

TEes WRA A hi BT e gl 7

(A) 2 3TFRE, 2014 (B) 21 37T&d, 2014  (C) 22 e, 2015

When Swachha Bharat Mission was started ?

(A) 2 October, 2014 (B) 21 August, 2014 (C) 22 January, 2015

HATSIHTT T0eTor T S Jeuod forad fomam ot 2

(A) . T efam (B) T. J. &H (C) J. TA. [T

Who was the first to apply the sociometric test ?

(A) J. A. Davis (B) A.J.Reiss (C) J.L.Moreno
-2-

(D) 28 3WTEd, 2014
(D) 28 August, 2014

(D) TU. TH. UgasH

(D) A. M. Edwards
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8. TrfaIRad i T TIHA H AT HifT
|. SR THeh
II. TR T THEHT
III. FEehT T fergetwor
IV. THeh! ST ST
i feu T ke # @ HE I R
e :
(A) L1, 1v, B) I, 1V, 1,11 (C) 1,1, 1v, 1 (D) 1, M, 1, v
Arrange the following in a sequence :
I. Raw Data
Il. Data Processing
lll. Analysis of Data

IV. Presentation of Data
Choose the correct answer from the code given below :

Code :

(A) 1,11, 1V, 11l B) 1, 1V, 1l i (C) 11, 1V, 1 (D) 1, 1L, 11, IV
9. fr=fafad & @ siv-u1 wh qa gfawliEt s e @ aret sy o1 srfies s fmm @ 2

(A) TIfEIhT Hgea gHfead HE (B) Taremer wferest 3mepR wTed ST

(C) I~ e gl 1 JFT AT (D) Sfawfir =it mafa=ar s T

Which one among the following is a primary ethical consideration when conducting research involving
human participants ?

(A) Ensuring statistical significance (B) Achieving a large sample size
(C) Utilizing advanced research methodology (D) Maintaining participant anonymity
10. WY e S 3r=awor amentid freor s fafyr 2, fohmeh gro smey < w2
(A) faferam Sem (B) SH TR (OEEEES] (D) SfF fr
Who introduced discovery learning method of inquiry based education ?
(A) William James (B) Jerome Bruner (C) John Dewey (D) Jean Piaget
11, Tovafoerem™ sHem M 6 SF-H Tga oo fien 4 “fefvea afin” i FAifaai o1 qwam &
T AT WA B 7
(A) T8 RA AR (B) W e fefsreat @mssill (NDLI)
() fefsrea sfean wrishn (D) 3feu 7t T gara fevafaeme™ (IGNOU)
Which initiative of UGC aims to address the challenges of “Digital Learning” in higher education ?
(A) Swachh Bharat Abhiyan (B) National Digital Library of India (NDLI)
(C) Digital India Programme (D) Indira Gandhi National Open University (IGNOU)

12. CUHAd F&IT 10 &1 "rgt gfafaferca s g ¢

What is the binary representation of decimal number 10 ?
(A) 0110 (B) 1001 (C) 1010 (D) 1100
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13, TTTETEE Wec I A9 B

(A) 1024 T3¢9 (B) 1024 fhetiamge®  (C) 1024 WTaTgeH (D) 1024 TTTsTgeH

The term gigabyte refers to

(A) 1024 bytes (B) 1024 kilobytes (C) 1024 megabytes (D) 1024 gigabytes
14, 3Aferel i UM &g P & HI-T1 GIeE g a1 § 7

(A) MS Access (TH. TH. TFHH) (B) MS Excel (TH. TH. THH)

(C) Google Docs (T ST (D) MS PowerPoint (TH. TH. UTalU(se)

Which tool is used among the following for data calculation ?

(A) MS Access (B) MS Excel

(C) Google Docs (D) MS PowerPoint
15. T & ®H-|1 $AYe feasy’ g ?

(A) IR g fet (B) TR (C) WSIFeR (D) 3@ Tt

Which of the following is an ‘input device’ ?

(A) Bar code reader (B) Monitor (C) Projector (D) Braille reader
16. wTawly ufitfeufadt o qRada @ dra-y § Qe o Je Tiafafer & 99 S el AT 8

(A) Tifeferht (B) TfEe fasm

(C) vieary fasm (D) af=hr

The timing of seasonal activities of plants in relation to change in environmental conditions is referred to as

(A) Ecology (B) Phenology

(C) Climatology (D) Forestry
17. ‘et Mepra’ f=fafad 9 @ fra v o grafa 2 7

(A) Torea wueli 9 (B) 3IMaqfH &

() Shifea denfera Shai @ (D) 3T 9Td TRETT &

‘Cartagena Protocol’ is related to which one of the following ?

(A) Heritage sites (B) Wetlands

(C) Living modified organisms (D) Ozone layer conservation
18. Tr=foifigd o & HH-E T IR 3NN JUel 2 & =il ScdsH STHfaE! ol @lig U9 o Fehdll & 7

(A) e T (B) el ferereregy

(C) e e (D) T gfen

Which one among the following is a market based system where companies can buy and sell emission

permits ?

(A) Carbon Space (B) Carbon Sequestration

(C) Carbon Sink (D) Carbon Trading
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19. Trafafea armeea A4l 6t 3k AT Ffaerd & =ed U U Safed Hif |

|. <hIeA SIE3T(FETES

1. ATgere
1. ST

Iv. 3t
<hc:
(A) LIV, (B) I, 1v, 1,1 (C) 1,1V, I (D) 1, 1,1, 1v
Arrange the following atmospheric gases in order of their volume percentages in descending order.
I. Carbon dioxide
Il. Nitrogen
lll. Oxygen
IV. Argon
Choose the correct answer from the code given below :
Code :
(A) L1V, (B) I, 1v, 1,1 (C) 1, v, 1 (D) 1, m, 1,1V
20. frefcTRad wEl i 37 e 3afy o YR W ged e § SFafeyd hif |
w1
U]
geafd
. I
= feu T e § @ G W I ¢
e :
(A) 4,3,2,1 (B) 4,1,3,2
(C) 3,2,1,4 (D) 8,4,2,1

P 0 bd =~

Arrange the following planets in descending order according to their orbital period.
1. Saturn

2. Mars

3. Jupiter

4. Uranus

Choose the correct answer from the code given below :

Code :
(A) 4,3,2,1 (B) 4,1,3,2
(C) 3,2,1,4 (D) 3,4,2,1
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21. = T %o fou e &, S 8w A ifieRed (A) T QR I RO (R) HET T R |
AR (A) : TS HIE TeTa ¢ § FHeherert Tz § Y9 Al 2, q 98 $S I 33 A1 2 |
RO (R) : 995 % o1 sl TFcd ¢l o 5ot b ocd & 3R 2 |

= few M@ E T ¥ ¥& W T*:[&N :

E &

(A) (A) 3 (R) EHI & & 3 (R), (A) Sl FEl SATEAT HTl

(B) (A) 3R (R) gHI T &, g (R), (A) I TE ST &l Ll &

(C) (A) ¥ &, Tg (R) Terd 2

(D) (A)TTd 8, Wg (R) €A &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : When a ship leaves a river and enters the ocean it rises a little.

Reason (R) : The density of sea water is more than that of river water.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A)is true, but (R) is false

(D) (A) is false, but (R) is true

22. Torm fafy =1 tfge vy witg afufs 6 So o st 3 FUERT O TR & fauTe S Ter wE
! el AT 7
(A) 145, 1947 (B) 123, 1947 (C) 04SH, 1947 (D) 033, 1947

On which date Gandhiji asked Congressmen to accept the Partition of India at the All India Congress
Committee Meeting ?

(A) 14 June, 1947 (B) 12 June, 1947 (C) 04 June, 1947 (D) 03 June, 1947
23. frfafed & & -1 v fowg Tmadt g=h 5 7 8 2

(A) T (B) = YA

(C) & 3 A (D) reh TATES

Which one of the following subjects is not in the concurrent list ?

(A) Education (B) Administration of justice

(C) Weights and measures (D) Public health
24, TS fohteh R H UG o &9 H 31T o1 7

(A) Torgar (B) 31T (C) ==Tea Wt (D) TE3Y

In whose court did Megasthenes come as an ambassador ?

(A) Bindusar (B) Ashok (C) Chandragupta Maurya (D) Brihadratha

25. TSA § g9 WA fopd oy @R fekam Trm o ¢

In which year Dyarchy was started in the provinces ?
(A) 1909 (B) 1919 (C) 1935 (D) 1937
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26. N Gfag™ & foha =g & dgd fret o AfehR sl Hifesh 1R & &9 § T & i § 7

(A) 3FT=T 21(A) (B) 3rT=e 45
(C) 3TT=8g 19 (D) 3T=HE 32
Under which Article of Indian Constitution is the Right to Education guaranteed as Fundamental Right ?
(A) Article 21(A) (B) Article 45
(C) Article 19 (D) Article 32
27. form Gfaum geneq gro gger gfufaa v gaunfaes et yed fomam w2
(A) 969 Gfau™ HIMeH (B) 97 df Gfaer= Hsned
(C) 99 af wfae Hsmem (D) 101 af Gfaea gsnes
By which Constitutional Amendment, the Co-operative Societies were given Constitutional status ?
(A) 96 Constitutional Amendment (B) 97 Constitutional Amendment
(C) 99t Constitutional Amendment (D) 101t Constitutional Amendment
28. hiIfdg TR (2020 — 21) % GRIF Ha 8 g YHTfd &1 o1 5hH WA Tdeaeen & ded |
Tafia HIf |
(A) fH, &ef1, Seim (B) e, FHfY, I
(C) Fe, v, Hi (D) S, e, Y
Select the order of worst affected sectors in the context of Indian Economy during Covid Pandemic
(2020 — 21).
(A) Agriculture, Service, Industry (B) Service, Agriculture, Industry
(C) Service, Industry, Agriculture (D) Industry, Service, Agriculture
29. Ueh g shl SIS, Torem fopeht saferd oht forelt sl T &1 91 9 BT shis 3= &1 SIoidl 7, el &
(A) 37T TSR (B) 3TIU=Tieh SIS
(ORUIELIENEIE (D) Sesd SUST

A type of unemployment in which the presence or absence of a person in a job does not make a
difference, is called

(A) Under employment (B) Formal unemployment
(C) Seasonal unemployment (D) Disguised unemployment
30. TEIT S (2025 - 26) % qEd Tael IR HedTvl vg TTHTINTR &N Thin 1 J&ad fean mn 2
(A) faftmio &= < st & fo (B) MY &= & Hfiehi o fort
(C) ATIATS wiewhid HfHeni & fol (D) wigen #fiehi & ford
Under the Union Budget (2025 — 26), first time Social Security Scheme for Welfare has been proposed for
(A) Manufacturing workers (B) Agricultural workers
(C) Online platform workers (D) Women workers
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31. ‘Sicay gEm fagra’ @1 ufqured frfarfea & @ foraes g foram mm 2
(A) W e fet (B) Trfhe eer (C) &. T4, & (D) 9 3FEL
Who among the following propounded the ‘Zone Strata Theory’ ?
(A) SirHerbert Risley  (B) Griffith Taylor (C) J. H. Hutton (D) Von Eickstedt

32. Trfafed & & % e & i 7@ W vfad & 2
(A) Tear fsman CERKCIES (C) TEcaTRYTT (D) wie faada

Which of the following is the driving force behind Mass Wasting ?

(A) Glacial activity (B) Wind pressure (C) Gravity (D) Plate tectonic
33. WU % fava Jerary faursH et o SER Fefafed 3§ @ w8 s a0 78 2 2
(A) Af = IWTh{CsEfT Iuf o (B) Am = ISUTh{ea-ef A
(C) Aw = IWTeh{CaefiT HamT (D) An = 357 TREAA
Which one of the following is not correct as per Koppen’s Scheme of classification of world climate ?
(A) Af=Tropical rain forest (B) Am = Tropical monsoon
(C) Aw = Tropical savanna (D) An = Hot desert
34. fr=fafed § 8 1 IRd™ Pieear ekeh fosh SR I FRIsH W= 3o wr & fag s
ST & 2
(A) TH. b, =St (B) 3. d. faysm
(C) Sit. wH. MHEA (D) . WA, TR
Which of the following Indian Geographer is known for his work on regional development and rural
planning ?
(A) S. P. Chatterjee (B) R. P. Mishra
(C) G.S. Gosal (D) B. N. Goswami

35. frefaifad @ & &F Piia § AETcHeh S 1 THE Sfdd o1 2

(A) X & (B) Tare wréwiH

(C) . Afhst (D) et |TeR

Who among the following was a key figure in Quantitative Revolution in Geography ?
(A) Peter Haggett (B) Richard Hartshorne

(C) H. Mackinder (D) Carl Saur
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36. TR famT@ w1 G &F Aied HHfaRad d 9 foraer gra wEarfed feram mam 2

(A) aTeeR freeTer (B) B B
(C) IHE =i\ (D) i@ 3 3o
Who among the following proposed the concentric zone model of urban development ?
(A) Walter Christaller (B) Homer Hoyet
(C) Ernest Burgess (D) Harris and Ullman
37. WMfcieh AThsl o TATHH Afaey shl Tga o fou f=fafga § @ form fafer o1 9= foman
Bl
(A wfe=r=m (B) Hedvra=y fargeryur
(C) HHIEIY (D) Treheam T fervermor
Which one of the following methods is used to identify spatial pattern of a geographical data ?
(A) Sampling (B) Correlation analysis
(C) Regression (D) Nearest neighbour analysis
38. TrHfaRad o § HH-81 @ 99 < 1Y TG (F3H) [G@H % o0 9 37<s1 8ia1 g ?
(A) UTE =T (B) IASTEa (C) @1 @ (D) AR I
Which of the following diagram is best for showing trends over time ?
(A) Pie chart (B) Ogive (C) Line graph (D) Star diagram
39. Trfafed @ & H-w1 AMfaE YT Siaie & gt i g 8 7
(A) g va (B) IRV T&T
(C) ™eheX F&T (D) forgEarasa v&u
Which of the following map projections shows the earth as viewed from space ?
(A) Gnomonic projection (B) Orthographic projection
(C) Mercator projection (D) Sinusoidal projection

40. Trfafed @ & - HehewmT TeRieh FRTSH § TR T o TATih T3 & WY Fe JAfUh I

BIAR 7
(A) TEvER g (B) e T fargr
©) Tfmar fagra (D) HETYH 16 fag

Which of the following concepts is most closely associated with the spatial organisation of urban
systems in regional planning ?
(A) Sector theory (B) Central place theory

(C) Dependency theory (D) Resource allocation theory
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41, FfG T AU W R HTE T gt i s 7, 91 Aierdis Ya WO He {1 6l s g

If ‘R’ is the radius of the reduced earth on a scale, the length of the equator on Mollweide’s
projection would be

(A) 2nR (B) 2=nR cos 45° (C) nR cosec 45° (D) 4xRx \/E
42. T d 3g-HR f fopd memT gem A {2 ® 7

(A) T affa (B) T &M

(C) ¥&d SaR (D) T -Sed THE=

Warm and cold-core rings are associated with which oceanic phenomena ?

(A) Ekman spiral (B) Gulf stream

(C) Spring tide (D) Conveyor-belt circulation
43. frefaRed & & foraa et fop < wew foreht & o wftadeeiiar afer s gwTet ol & aftfa e

Hitreq a1 87 ?

(A) 3THE BEH (B) T wréa

©€) & A W (D) dieX &

Who among the following said that “Regions are shorthand way of describing the variable character
of an area in an efficient manner” ?

(A) Alfred Hettner (B) Richard Hartshorne
(C) T.T.Woofer (D) Peter Haggett

44, Tfafgd @ ®F-91 Soary giEdd W T SRt AeET 1 e T8 g 2
(A) Bl WA % fore T e
(B) @ad FY % foyw wedta forer
(C) Tsfiar it farer
(D) T=Sid TR0l & ferw i fwm
Which of the following is not a Mission of National Action Plan on climate change ?
(A) National Mission for a Green India
(B)
(C) National Water Mission
(D)

45, Ife TpeY 221 B2 &1 A fa=e™ (SD) 2.83 8, A1 SHehT TEUT &1 B 7

If the Standard Deviation (SD) of a data set is 2.83, then what will be its variance ?

National Mission for Sustainable Agriculture

National Mission for Wildlife Protection

(A) 5.66 (B) 8.00 (C) 1.68 (D) 0.12
46. WRA & f=AfaRaa # 4 form T 1 Aiaifam 9fem et Smar @ 7

(A) FTITE (B) forstrem (C) wfoTg (D) Frgu

Which of the following States of India is called Molasses Basin ?

(A) Nagaland (B) Mizoram (C) Manipur (D) Tripura

-10- 36
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47. TARTET § TAHRRY B H HEd &
(A) Torea (B) &em (C) WS (D) i

Shifting cultivation in Malaysia is called

(A) Milpa (B) Ladang (C) Tamrai (D) Taunga

48. WG &1 W99 AHE fhg J&9 W §4R—1 @1 8 7

(A) Tehel T8 (B) &9 Y&

(C) fagearrea wau (D) SEIFETHR T&d
The weather map of India is prepared on which projection ?

(A) Mercator’s projection (B) Bonne projection
(C) Sinusoidal projection (D) Polyconic projection

49. dg7c Tew w1a (Y e US) i Hehedw1 1 Shaured ffaRad § 9 forem foram 7

(A) 38 ST (B) =Ted et
(C) STH wiHa (D) S B
Who among the following propounded the concept of ‘Great Ice Age’ ?
(A) Louis Agassiz (B) Charles Lyell
(C) John Playfair (D) James Hutton

50. fr=Afafgd & @ w-1 wreg foret wonfar 1 SaTE STavashdarst i feafq & @er-ary gt
pratene gl @1 9ui T B 7
(A) FHIH (B) STehfcieh a&
(c) uriifeufaeh feh (D) W &
Which of the following terms describes the position of a species habitat requirements as well as

its functional role ?
(A) Ecotone (B) Natural Habitat

(C) Ecological Niche (D) Home Range

51. TR < AT IgHT o I 3T 994 91 THHSH T HI0T 8

(A) TEITY HUTE TE (B) 39 HUTH Tg

(C) [&W UF 9EIW T HE (D) JeaEad! e

The halo formed around the moon at night is caused by

(A) Cirro-cumulus clouds (B) Alto-cumulus clouds
(C) Cirrus and Cirro-stratus clouds (D) Alto-stratus clouds

-11- 36


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

[£2

52.

53.

54.

55.

56.

GET IT ON
Google Play

frefafaa o @ foraa fova Seemy avffertor § smqwfaes wa SAfaes gHT TR & arffertor i

qifea fem 2 2
(A) St &, et (B) 3mforer-TEer (C) UHeae

(D) fier

Who among the following has included both empirical and genetic classification in the world

climate classification ?

(A) G.T. Trewartha (B) Oliver-Hidore (C) Thornthwait
Frefafad o 9 F-81 99 T 8 FEi[ T8 7 7

(A) Temnfiees fEefeaa (B) ITTHNREE

(C) Tferm REERIPIEE
Which one of the following books is not related to Ptolemy ?

(A) Geographike Syntaxis (B) Almagest

(C) Anaelema (D) Geographica
T UeH 3T TRET qEdH %A@ HH B 7

(A) @1 S (B) TeEad e
() fuftey e (D) ST 3T, |
Who is the author of book ‘The Pulse of Asia’ ?

(A) Isaiah Bowman (B) Ellsworth Huntington
(C) Giriffith Taylor (D) Carl O. Sauer
fome TR § Haifeh 9T ST FTer YeAtieh (Had SiH-|1 8 ?

(A) THfTRT Su™ A (B) AT Fcrent

(C) TAISRITET St (D) SHEH &
Which is the most abundant pelagic deposit found in the Indian Ocean ?
(A) Siliceous ooze (B) Red clay

(C) Gilobigerina ooze (D) Diatom ooze

YaTe foisH T T4 THE R0 F1 8 7

(A) HEEE A= ‘ (B) WETENT{Y JguUl

(C) W ¥Rl (D) TS ATATATA

What is the most important cause of coral bleaching ?

(A) Global warming (B) Oceanic pollution

(C) Ocean currents (D) Marine traffic
-12-
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57.

58.

59.

60.

61.

62.

frafafed 8 @S-t Ao T g7 Fe w1 R TE R 7

(A) FEH SIS (B) TTEZISH JTFATSS
(C) A (D) TS HHISTIFETES
Which one of the following gasses is not the cause of urban smog ?

(A) Sulphur dioxide (B) Nitrogen oxide

(C) Ozone (D) Carbon monoxide

TR T ST G 1 Gt foehrg fore @5 gia1 8 7

(A) ITd:hI AT o T9I (B) TUEL & THA
(C) H3 3TE & T (D) T & TaF
When do the heat islands develop the most in the cities ?

(A) In the morning at sunrise (B) At noon

(C) At sunset (D) At night
IRd § T R faem’ w1 3tey she foRam TR ¢

(A) 213[d, 2015 (B) 2535[d, 2015
(C) 26734, 2015 (D) 2731, 2015
When was the ‘Smart Cities Mission’ launched in India ?

(A) 21 June, 2015 (B) 25 June, 2015
(C) 26 June, 2015 (D) 27 June, 2015
frafafea & @ SF-t ger waifus wefae gef @ 397 2 2

(A) srfeedre (B) Ufedid (C) sTafeeHia
Which of the following soils contains the most organic matter ?

(A) Ultisol (B) Andisol (C) Inceptisol
frfefea & & T HiHm W 3 T IreT <o HH-T1 7 ?
(A) TIF T IR (B) I

(C) weIRmn (D) SUSHTRT
Which of the following countries produces the most synthetic rubber ?
(A) United States of America (B) China

(C) Malaysia (D) Indonesia

‘T = Hiferrd gReve’ A1k qEdeh o1 ey fefafaa O 9 fema g 0
(A) hIE (B) el (C) Brdm

The book ‘A New Soviet Heartland’ is related to who among the following ?

(A) Cohen (B) Seversky (C) Hooson

-13-
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(D) TewerE

(D) Histosol

(D) BferugT

(D) Mackinder
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63

64

65.

66.

. frafafaa o @ =9 a8 gafaa 78 8 ¢
ECSIG B S
(A) JeT _ FHTRETE

)
B) i sfem - wamE
(C) A greere DIDES

(D) dTies - fedfius fumre

Which of the following is not correctly matched ?

Tribes Race
(A) Vedda — Caucasoid
(B) American Indian - Mongoloid
(C) Bushman Hottentot — Negroid
(D) Dinaric — Secondary Negroid

. T yat ol efafaa # @ form g&w w vefia feer S g e
(A) TS I8 (B) Togmamreat waw
(C) Y wHeT y&m (D) S 989
Both the poles are shown on which of the following projections ?
(A) Gall’'s projection (B) Sinusoidal projection
(C) Polar zenithal projection (D) Bonne’s projection

foree g Tmei foha o foh ‘wa o1 Wimiferes foraquor foreft 3171 dear <t gotT § SiefaTy Td =g W
s foft gran 27 2

() . T (B) Th. tesid (C) 3. B (D) 3. fémea

Who supported that ‘the geographical distribution of man depends on climate and weather more than

any other factor’ ?

(A) G. Taylor (B) F.Ratzel (C) E. Semple (D) E. Huntington
& T faveww # frefafed § & =man foaem fafs |R- @ 2

(A) ThiZear fafa (B) shiegifereht fafer

(c) dter fafy (D) %. <8 fafr

Which of the following is the minimum deviation method in crop combination analysis ?

(A) Rafiullah method (B) Kostroviki method

(C) Weaver's method (D) K. Doi’s method
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67. fory 3 g Gererelt S MUt 2q foRae Hehdehl T IwRNT fRaT 7 7

How many indicators have been used by Smith to count social happiness ?

(A 5 (B) 6 C) 8 (D) 7

68. UYH HETHAl YHTE o RV hd TR 1 3@ forehfad &rar & 7
(A) STERYT JETT
(8) fafsmse 3
(C) & AT wgAT I
(D) THNIcHD I
Which type of industry develops due to backward linkage effect ?
(A) Basic industries
(B) Specific industries
(C) Complementary or supporting industries

(D) Negative industries

69. Tr=faifaa @ & form Teheat W Waw Flg ga fagra’ 1 fasa qat &9 & snani@ & 2
(A) gellshto
(B) o 3Tfdeh &
(C) 3nyd 3mfde &=
(D) THEYE TqE
The development of Perox ‘Growth Pole Theory’ is basically based on which of the following concept ?
(A) Polarization
(B) Tangible economic space

(C) Abstract economic space

(D) Homogeneous groups

70. RS sk fefaftad § 9 forg wma i Wges stfieafea g 7

(A) et (B) HTeh fererer

(C) S&Th (D) JER

Lorenz curve is linear expression of which of the following measurement ?
(A) Median (B) Standard deviation
(C) Mode (D) Dispersion
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71. form R 1 gEafd ol -t Seifther® o4 %gd @ ?

(A) HETSER a§i o (B) &M &

(C) YHeHETT At (D) ST &
Which type of vegetation is sometimes called Sclerophyllous forest ?
(A) Evergreen rain forest (B) Taiga forest
(C) Mediterranean scrub (D) Tidal forest

72. frfafad 4 @ =19 we geEmE 3 mEddE wiel & = A Hi9r 1 SaEw B ?

(A) WSS ydd (B) & 3Thich! w=1 =T
(C) a7 ufvgar ¥ (D) HET ITATEH hh
Which of the following is an example of convergent boundary between an oceanic and continental
plate ?
(A) Andes mountains (B) East African rift valley
(C) San Andreas fault (D) Mid-Atlantic ridge

73. herEfes U 7
(A) 3 @A T (B) 31 BT Ued
(C) &ferst we (D) &R wem
Katabatic wind is
(A) Up slope wind (B) Down slope wind
(C) Horizontal wind (D) Stable wind

74. st o1 T fepa feam on 7
(A) BT (B) fegeardt (C) BT (D) ITTES

Who put forth the idea of compage ?

(A) Hartshorne (B) Whittlesey (C) Herbertson (D) Unstead

75. UM W SeHCH G fRH & I a1 TR ?
(A) YT 3ThIshT (B) Ae qd (C) g ulmn (D) s

Which region in Puranas is referred to as Shalmali Dwipa ?

(A) East Africa (B) Middle East (C) East Asia (D) Borneo
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76. = G %oF B S & U i AR (A) T G I HIT (R) e TR |
a:ﬁmmmy;;ﬁwgm (FEIEHER) 98 WA & ST&f Soehld gl o IIYHSH H Jodl i W A
|
T (R) : HEIHUSH § MHESY 6l i 3= Figdl gl @ |
%<

(A) (A) 3T (R) AT T 2 3T (R), (A) sl TE SITEIT LT 2

(B) (A) 3R (R) gHIl T & W] (R), (A) sl T AT &l LT 7

(C) (A)Hed 8 T (R) TTefd B

(D) (A)TTefd B 9 (R) Wl &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : The mesosphere is the layer where meteors burn up upon entering the earth’s
atmosphere.

Reason (R) : The mesospheres has a high concentration of greenhouse gasses.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false

(D) (A)is false but (R) is true

77. = QU wUA § A @ T HI ARTHE (A) TAT G I HR (R) FT WS |
fiRed (A) : 1. 3. &k 4 Y-3TTR{d famm | Tfqefiie dqem 1 STauren J&qd 2 |
HROT(R) : 1. . 8% 5 39 91d W SR 81 e o ygea, foadf-ehia Icam 3R 3r=sre ik
& G T T 7 |
Tz

(A) (A) 3R (R) THT T & 3R (R), (A) T &l STEIT HLdT 8

(B) (A) 3R (R) QI T & T (R), (A) i T&! AT &l Hial &

(C) (A)Hed B 9T (R) Terd B

(D) (A)TTed 8 WG (R) Hed B

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : J. T. Hack proposed the concept of dynamic equilibrium in Geomorphology.

Reason (R) : J. T. Hack did not emphasize that landscape achieve a balance between tectonic uplift
and denudational process.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true
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78. = Q1 YA & T ¥ TH I ARTRAA (A) TAT T I HR (R) Fal T8 |
TR (A) : TIREA €0 SaaE! foewiel 1 w9 2 |
RO (R) : AERT e Had sarageEt foewidd & o 8id § |

et fou e e @ wE IR AT

%< :

(A) (A) 3R (R) T & & 3T (R), (A) i Tl A& hiell

(B) (A) 3T (R) €I T & W] (R), (A) ! Tel SAREAT T&l Ll 2

(C) (A)Hed B 9L (R) TTefd B

(D) (A)TTefd & 9 (R) &l &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : Aleutian Islands are a site of volcanic eruptions.

Reason (R) : Convergent plate boundaries are site of volcanic eruptions.

Select the correct answer from the code given below :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) )

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

79. = g1 %oF B o & U i AR (A) AT GER I HIT (R) el TS |
W(A):@E?maﬂw%ﬂﬁwﬁaﬁmﬁqﬁaﬁwmwaﬁ%m%mm
Hehdl T |
WO (R) : o FFeA Yol sl U8 e & 1 Yad 339 YGH gl hLdl 2 |
‘gwﬁwﬁwﬁﬁmwﬁwwwwﬁ
(B) (A) 3R (R) EHI Hed & W (R), (A) hi W&l e & shiefl
(©) (A)¥ & T (R) Teid B
(D) (A)TTd B W (R) & 2
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Remote sensing can be used to study changes in land cover.
Reason (R) : Remote sensing does not provides a synoptic view of large area of earth surface.
Select the correct answer from the code given below :
Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B)
(C) (A)is true but (R) is false
(D) (A) is false but (R) is true

Both (A) and (R) are true but (R) is not the correct explanation of (A)

Both (A) and (R) are true but (R) is not the correct explanation of (A)
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80. < QI YA & W ¥ TH I AANTHUA (A) TAT T I HRI (R) Fgl T 8 |

81.

GET IT ON
Google Play

arftreRem (A) : e T 9 3 TR grd e 8, 9 & fave oy e 8 7 |
THROT (R) : T4 9 3 TEETRIT 93Tl o field dTel &3 o STol sl aruH HSferl o I9+H =d

Tifieh 3T BT B |

=l feu T e @ WEl I I

(A)
(B)
(©)
(D)

)W%W(R Tad 8
(A ) A & T (R) I &

%2 . .
A) (A) 3T (R) THT TcF & 3T (R), (A) ! T&I AT HidT &
(A) 3R (R) GHT T & 9G] (R), (A) i T&! ST T8 LT &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : The areas where warm and cold ocean currents meet, are the major fishing areas

of the world.

Reason (R) : The temperature of water of the area where warm and cold ocean currents meet,

is most suitable for the breeding of fishes.
Select the correct answer from the code given below :

Code :

(A)
(B)
(©)
(D)

= Q1 YA & T & T 1 IANH (A) TAT G I HR (R) FaT TS |
AR (A) : T ST, WA T AR =shalTd THTIId & B |
IO (R) : HI1E < J&F 3T SATTeh TSI o HRU HH HR SO H I@ed 72l @ |

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is not the correct explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

ﬁmW%@aﬁww:

(A)
(B)
(©)
(D)

(A) 3R (R) GHI BT & 3T (R), (A) =l HEl SATEAT LT &
(A) 3 (R) THT T & T (R), (A) <l TE ST T& LT 8

)W%W(R TAd 8
(A ) A & W (R) T &

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : Coastal Odisha is highly cyclone prone area of India.

Reason (R) : Mangrove trees do not get uprooted by storms and tides because of there extensive

Select the correct answer from the code given below :

roots.

Code :

(A)
(B)
(©)
(D)

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) is not the correct explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

-19-
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g2. = & w8 T | T I AR (A) TUT TR T HR (R) g T 2 |
TR (A) - Tl & AT Hueet § y-udd (shee) Y afd Bt B |
T (R) : T Wil Sl FTALIV SHIATE HISA | 811 & |
=l feu T e @ WEl I I

(A) (A) 3R (R) T Hea & 3T (R), (A) i Tl SATEaT hiell

(B) (A) 3R (R) Tl Tcd & W (R), (A) h! Tl AT T&1 Ll &

(C) (A) ¥ 2 T (R) Terd 2

(D) (A)Trerd & 93 (R) §F 8

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Loss of earth crust occurs in the convergence zone of plate.

Reason (R) : The subduction of heavy plate occurs in the Benioff zone.

Select the correct answer from the code given below :
Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B)

(C) (A)is true but (R) is false
(D) (A)is false but (R) is true

83. < & U 8 TH | T ! JANFHUA (A) T G =l HRU (R) el T 2 |
ATIRIA (A) : AT 3TTEH =k hl ST & TTeehad IhaTT (3¢d) Bt 2 |
AT (R) : STeA TR =5k <l A awn H Yeerye gfshan s yurel wfskan 2t 7 |
el feu ¢ ke | wE I M

(A) (A) 3T (R) QT T & 3T (R), (A) h1 Tt e HEaT 2

(B) (A) 3 (R) Sl A & Tq (R), (A) h1 Hell SATEAT &l HaaT 2

(C) (A)Hed B 9T (R) TTefd B

(D) (A)TTeTd & g (R) ¥ 2

Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).

Assertion (A) : Maximum entropy occurs in the old stage of the hydrological erosion cycle.

Reason (R) : In the last stage of the hydrological cycle of erosion, the process of peneplanation is the
main effective process.

Select the correct answer from the code given below :

Code :

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B)

(C) (A)istrue but (R) is false

(D) (A) is false but (R) is true

Both (A) and (R) are true but (R) is not the correct explanation of (A)

Both (A) and (R) are true but (R) is not the correct explanation of (A)
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84. I QI YA 8 T ¥ T I ANTHUA (A) TAT T I HR (R) Fal T 8 |
fURYA (A) : TR IEiehd &1 § TS o H Rt AT 7 |
THROT (R) : TR T foryert Afgenatt sl et wa UsHTR o Sgar 3TaER T 8d 2 |
%< :
(A) (A) 3R (R) EFT Hed € 3T (R), (A) i Tl SArET hiell
(B) (A) 3T (R) Tl A & T (R), (A) H1 Hell ATeAT &l aa 2
(C) (A) ¥ & Tg (R) Teid 2
(D) (A)Teid & T (R) & &
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Fertility rates tend to decline in highly urbanised areas.
Reason (R) : Urbanization provides better access to education and employment opportunities
especially for women.
Select the correct answer from the code given below :
Code :
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true but (R) is false
(D) (A)is false but (R) is true

85. =l g1 %em B S & U i AR (A) AT G I HRT (R) FHET TR |
HTUHYA (A) : ST2ThICH T o% H o1 Tdl & Tifch @l aTfdeh aui 8 Tt & oft w9 et 7 |
THUT (R) : 3TCTehidehl H TTAR ol gaTd =i & |
%< :
(A) (A) 3R (R) T Hed & 3R (R), (A) i Tl SATEAT hiell
(B) (A) 3 (R) Tl e & T (R), (A) h1 Hell AT el adT 2
(C) (A)HA & Tg (R) Teid 2
(D) (A)TTefd & 9 (R) &l &
Given below are two statements, one is labelled as Assertion (A) and the other as Reason (R).
Assertion (A) : Antarctica is always covered by snow but receives less than 8 cm of annual
precipitation.
Reason (R) : Speedy winds constantly blow in Antarctica.
Select the correct answer from the code given below :
Code :
(A) Both (A) and (R)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)istrue but (R) is false
(D) (A) is false but (R) is true

are true and (R) is the correct explanation of (A)
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86. fecmemmr # frfafed Saewerst #1 qd @ ufvam & 0 # syafeed Hif |

[. Hcddkehl SIcisHRHET

II. ST&-TA-Hew

I, EHS Sergnene

V. YTk ScTeHeHEY
= feu T e @ T ITW 1 =TI FHIT
%
(A) LI v, B) I, Iv, 1,1 C) LIV, I (D) 1, 1L, 10,1V
Arrange the following straits of Indian ocean from East to West.

I. Malacca Strait
Il. Bab-el-Mandep
Ill. Strait of Hormuz

IV. Palk Strait
Select the correct answer from the code given below :
Code :

(A) 1,111V, 111 B) 1, IV, 1L, Ii (©) I, 1, 1V, | () I, 111, 11, IV

87. Y RS wexn & e o fou fF=fafga & & = f S et aeredes fafy v =

i |

a. TuwEd sgy forfy

b. I g fafa

c. Taves favemm

d. fiehea aerE fawemm
= feu T e @ T 3T H = I
%<
(A) Hada (B) a3 b
(C) a, b3Mc (D) |+t a, b, ¢ 3T d
Select from the following quantitative methods used for demarcation of urban planning regions :
a. Thiessen polygon method
b. Graph theory method
c. Discriminant analysis

d. Nearest neighbour analysis
Select the correct answer from the code given below :

Code :
(A) Onlya (B) aandb
(C) a,bandc (D) Alla,b,candd
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88. frfeiiiad ol gferor & I 1R § =aferd shifere |
. diase goft
II. SRt Soft
. wEM femre™
Iv. e Soft
= feu T e & FE IT H T HIC
%<
(A) 1111V, B) 1,1V, 11, I (C) 1,111, 1V, 1 (D) 1, 1, 11, IV
Arrange the following from South to North sequence.
I. Pirpanjal range
Il. Zanskar range
lll. Greater Himalayas
IV. Ladakh range

Select the correct answer from the code given below :
Code :

(A) 11,1V, 11l B) 1, 1V, 1, Ii (C) 11, 11, 1V, | (D) 1, 1L, 11, IV

89. frefeifigd W & &I w1 TThST I deFeT BISA ITET & 2

a. WH.E.H.

b. .Ul

c. SL.UASM.

d. duAS .
%<
(A) had a (B) a3ib
(C) a,b3MRc (D) @+t a, b, ¢ 3T d
Which of the following is/are a vector file format for spatial data ?
a. MDB
b. TAB
c. DLG
d. PNG

Select the correct answer from the code given below :
Code :

(A) Onlya (B) aandb
(C) a,bandc (D) Alla,b,candd
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90. VRIEH vRA # ufvem 1 SR Fe arelt Ffafaa Jfeai i W @ SfEor i AR safea Hifve |
. HTsEd
I, drdt
I, <hredt 4t
V. HIaqsi
el feu ¢ e | wEl I T
%<
(A) L0 v B) I, IV, 1,11 (C) 1,1, v, 1 (D) I, 1, 1v
Arrange the following west flowing rivers in peninsular India from North to South.
I. Sabarmati
II. Tapi
[ll. Kali Nadi
IV. Bharathappuzha
Select the correct answer from the code given below :

Code:
(A 1,0, B) I, 1V, I, 11 (C) 1,1, v, 1 (D) 1, 1, 1, v
91. F — Il g — 11 w1 gHfera hifve qen =i & A= fou e e @ w6 W g |
T -1 g -1
(Rrgra) (srfearash)
a. HIeUH g . ARA oTEIEH
b. SHHTfEhR! TehHur g IS SRR R IR
c. IRAaH SHEE g lIl. oTHY Weo™
d. I IV. Ufed A
%
(A) a-=IlllLb-1,c—=1v,d-1 B) a=Ill,b=1V,c—Il,d-1
(C) a-Il,b-Ill,c-1,d=-1V (D) a=1IV,b—=1Il,c=1l,d-1I
Match List — | with List — Il and select the correct answer from the code given below the lists.
List -1 List -l

(Theories) (Proponents)
a. Malthusian theory I.  Warren Thompson
b. Demographic transition theory [I. Julian Simon
c. Optimum population theory lll. Thomas Malthus
d. Cornucopian theory IV. Edwin Cannon
Code :
(A) a-=IlllLb=1l,c=1V,d-1 B) a=Ill,b=1V,c—Il,d-1
(C) a-Il,b-=Ill,c-1,d=-1V (D) a-1IV,b—1Il,c—1l,d-1
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92. FE — I g - 11 w1 gafera hifsre g gie & H= fou T e | @@ 3w g |

93.

g -l
(TR ferar wshmon)
CL=ieceicaul
fors favmem
Aemfes Tenem

Tors w9

B) a-I,b—1Il,c—1ll,d-
Lc—IV,d—Il

(D) a—-1ll,b-

\Y

Match List — | with List — Il and select the correct answer from the code given below the lists.

el - |
(GETIED)
a. er-feefum
b. Teedmm =it
c. TH.E.1.3Ts.
d. Hfeend ersheligs
e :
(A) a—IV,b-1ll,c=1ll,d-1
(C) a-IV,b=lll,c-1l,d-1I
List -1
(Techniques)
a. De-Striping
b. Histogram Equalisation
c. NDVI
d. Maximum Likelihood
Code :
(A) a—-IV,b=-1ll,c—1ll,d-1
(C) a-IV,b=lll,c—=1l,d-1I

l.
Il.
Il
V.

List -1
(Digital Image Processing)
Image enhancement
Image classification
Radiometric correction
Image transformation

B) a—I,b—1Il,c—1ll,d-
IV, d—1I

(D) a-1lll,b-1,¢c-

\Y

T — | G - 11 Ty gAfad hifsre aen gieet o F= fow T e @ wd 3w g |

A -1
(IFTE)
a. 9id
b. hICHIE — 3
c. {ife —2dft.3m. —|
d. Threde — |

IV, c—IIl,d-1l

(A) a—I,b—
(@ —1V,d—1Il

a—-Il,b-

l.
Il.
Il
V.

g -1l
()
ENERRERRIE
I TARSC T

T e
TETETH AT

B) a—IV,b—1ll,c—1Il,d—1

(D) a—Ill,b-1l,c—

IvV,d-1

)
Match List — | W|th List — Il and select the correct answer from the code given below the lists.

List -1
(Satellites)

a. SARAL

b. Cortosat—3
c. RISAT-2BR -1

d. SCATSAT -1|

Code :

(A) a-=1l,b=1IV,c—=1ll,d-Il
(C) a-Ill,b=Il,c—IV,d-1l

List -1
(Applications)
Climate and environment
Disaster management
Urban planning

Oceanographic studies
B) a=IV,b-1lll,c—Il,d-1
(D) a-Mll,b-1l,c-
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94. qsﬁ—mﬁqsﬁ—n%wgﬁﬁaaﬁﬁqamg%ﬁ%ﬁ%ﬁqmwﬁwwgﬁq|

95.

Tl -
(wgrwﬁaamﬁfa)

a. " ATAICH hih

b. AfEmT T

c. WeW afer {w%

d. e TTd

%

(A) a-IV,b—1lll,c—1Il,d—I

(C) a-=Il,b=IV,c—1,d—1ll

g -1l
(srafearfa)

. Tae aeEmR
AT HEHNR
M= HETETT
a1 ETR

B) a—1Il,b—1ll,c—
(D) a—1,b-

I,e=1Ill,d-

IV, d-1

v

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1

(Oceanic Features)
a. Mid Atlantic Ridge
b. Mariana Trench
c. Great Barrier Reef
d. Java Trench
Code :
(A) a—-IV,b—=lll,c=1l,d-1
(C) a-=Il,b=1V,c—=I,d-1l

List—1I
(Location)
Indian Ocean
Atlantic Ocean
Pacific Ocean

Coral Sea
B) a-Il,b-1ll,c—
(D) a=1l,b=1l,c=1l,d-

IvV,d-1

ajﬁ—mﬁagﬁ—u%mgﬁ%maﬁﬁqam{%ﬁ%ﬁ%ﬁqmﬁﬁwwgﬁq|

Tl -
(Wﬁ)
a. TR I hl T STEROT
b. forg-¢aa Hitett
c. T, wH 3ATh S=et
d. TERM ATH TG
e
(A) a—IV,b—1Il,c—1,d—1ll
(C) a-I,b-1ll,c—1V,d—1I

g -1l
(Forgma =t =1m7)
T e
Hitrefl Tt
Heieh of ™
<. a

B) a—Ill,b-
(D) a-1,b—

Lc=1Il,d-
I, c=1v,d-Ill

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1

(Contribution)
First concept of social geography
Lieu-Travail Famille
Space, Place of Gender
The production of space
Code
(A) a—-IV,b—=Il,c=1,d=1l
(C) a-I,b=ll,c=1V,d-I

oo oo

l.
l.
Il
V.

List -1l
(Name of Scholar)
Henri Lefebvre
Camille Vallaux
Frederic Le Play
D. Massey

B) a-lll,b—1,c—Il,d—
IV, d -l

(D) a-1,b—1ll, c—
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96. qsﬁ—mﬁqsﬁ—n%wgﬁﬁaaﬁﬁqamg%ﬁ%ﬁ%ﬁqmwﬁwwgﬁq|

97.

T -
(‘Tﬁﬂam)

w.é.%m'—r

pici

ey

%

(A) a-Il,b=1lll,c—1I,d-
(C) a-Illl,b=1I,c—IV,d—Il

oo oy

g -1l
(ITe3 ST
fadt dom
e Fies
ITIATE

e femeteivg

B) a-1Ill,b-1V,c—
(D) a—IV,b—1Il,c—

I,d-1
[,d—1l

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1
(Geographers)
a. Andre Allix
b. R. E. Dickinson
c. Green
d. Smailes
Code :
(A) a—-I,b—=Ill,c—=1,d=1V
(C) a-=-ll,b=1lc=1IV,d-1l

l.
l.
Il
V.

List-1I
(Term used)
City region
Urban field
Umland
Urban Hinterland

B) a-Illl,b-1V,c-
(D) a-1IV,b—1Il,c—

I, d-1
[,d-1l

qsﬁ—mﬁqsﬁ—n%wgﬁﬁaﬁﬁqam@ﬁ%ﬁ%ﬁqmwﬁwwgﬁq|

Tt -

ﬂzrwrﬂwm)

el 9

IAEE G

ST SR

ey 9

e

(A) a-Il,b=1IV,c—Ill,d-1
(C) a—=Il,b=1,c—IV,d—Il

g o oo

g -l

(srateufa)

feroft et o1 ufved qe
ST I I dE
JThIehT T UfT=Hl de
JThiehT h1 Il ¢

B) a—1I,b-
(D) a—1,b-1V,c—-

Ie=1Ill,d-
i, d—1i

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1

(Oceanic current)
Humboldt current
Agulhas current
Benguela current
Antilles current
Code
(A) a-Il,b—IV,c—-1l,d-1
(C) a-Il,b—-Il,c—IVv,d-1l

oo oo

l.
I.
Il
V.

List - Il
(Location)

Western Coast of South America

Northern Coast of Cuba
Western Coast of Africa

v

Eastern Coast of Africa
B) a=I,b-1l,c-1ll,d-
(D) a=lL,b=IV,c—=1ll,d-Il
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98. H — Il G — 1'% T gHfera hifve qen i & A= fou e e @ wd W gHu |

= -1 g -1l
(T we) (391/576)
a. BWe . 3TSudT
b. B I Tfgafes e
c. dM I, gt STk
d. e V. gsH

He
(A) a-lLb-l,c—ll,d=1IV
(B) a-lb-IV,c—Il,d—Il
(C) a-lll,b—1V,c~Il,d~I

(D) a-lll,b—1Il,c—IV,d—I

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List -1
(Local Wind) (Country/Region)
a. Harmattan I. Argentina
b. Haboob Il. Adriatic Coast
c. Bora Ill.  West Africa
d. Zonda IV. Sudan
Code :

(A) a-I,b—=1Il,c—Ill,d-1V
B) a-I,b—1IV,c—II,d—1Il
(C) a-llLb—1IV,c—1Il,d—I

(D) a-l,b=I,c-1V,d-I
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99. F — Il T — 11 T gHfera hife qen g & A= fou e e @ wd W g |

& -
(37T SifEw)
. JETRR
b. hegTiE
c. feaa
d. fe
He

QO

(A) a—IV,b—1Il,c—1,d—1ll
B) a-IV,b-1c—I,d-1lI

(C) a-Lb-=ll,c=1IV,d-1ll

(D) a-Lb-=1IV,c—Ill,d-1ll

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1
(Drainage Pattern)
a. Dendritic
b. Centripetal
c. Radial

d. Trellis

Code :

(A) a=IV,b=Il,c=1,d-1l
B) a-=-IV,b—=Ic—1l,d-1ll
(C) a-Lb-=ll,c-IV,d-Il

(D) a-Lb=1IV,c=IlIl,d-1l

GET IT ON
Google Play

A -1
(&)
. hfERM "R
Il. 3THEhes
. THfEE
V. 3TESH

List -
(Area)
I. Caspean Sea

Il. Amarkantak

I. Appalachian

IV. Amazon
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100. F= — |1 F= — 116 T GHleTd hIFT TAT Fie=i & 1= 1T T Fe & T IR FHT |

gt -1 g -1l
(¥g79) (Fmior sifshem)
a. gafe . e frgmo
b. SIS I, Tewda femo
c. S . = e
d. 2reset IV. 3T9&™ 3R a1y 3T

He
(A) a—IV,b—Ill,c—1l,d—I
(B) a-IV,b—I,c—lll,d—Il
C) a-l,b-1ll,c—1I,d-1IV

(D) a-I,b—Ill,c—IV,d—I

Match List — | with List — Il and select the correct answer from the code given below the lists.

List -1 List—1I
(Landforms) (Formation Process)
a. Drumlin I.  Coastal deposition
b. Bajada II. Glacial deposition
c. Inselberg lll.  Fluvial deposition
d. Tombolo IV. Weathering and wind erosion
Code :

(A) a—IV,b—1Ill,c—1Il,d—I
B) a-IV,b-1c—II,d-1l
(C) a-Il,b—Il,c—1,d-1IV

(D) a-Il,b=Ill,c=1V,d-I
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